1. Whatis the standard form of 1 x 1000+ 7 x 100+ 9 x 10+ 1 x 1 + 1 x (1/10) + 3 x (1/100) + 7 x
(1/1000) + 2 x (1/10000)?
A. 1791.1372
B. 1719.1732



You are right! Go to next.



You are wrong! Try again.



2. What is the standard form of 2 x 1000 + 8 x 100 +9x 10+ 4 x 1 + 2 x (1/10) + 0 x (1/100) + 3 x
(1/1000) + 9 x (1/10000)?

A. 2894.2039
B. 8745.5467



You are right! Go to next.



You are wrong! Try again.



3. What s the standard form of 3 x 1000+ 1 x 100+ 6 x 10 +4 x 1 + 3 x (1/10) + 8 x (1/100) + 3 x
(1/1000) + 6 x (1/10000)?

A. 3146.3863
B. 3164.3836



You are right! Go to next.



You are wrong! Try again.



4. What is the standard form of 4 x 1000+ 1 x 100 +9x 10+ 6 x 1 + 4 x (1/10) + 5 x (1/100) + 2 x
(1/1000) + 8 x (1/10000)?

A. 4196.4258
B. 4196.4528



You are right! Go to next.



You are wrong! Try again.



5. What is the standard form of 6 x 1000 + 7x 100 +4 x 10 + 9 x 1 + 6 x (1/10) + 3 x (1/100) + 2 x
(1/1000) + 1 x (1/10000)?

A. 6749.6132
B. 6749.6321



You are right!



You are wrong! Try again.



